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Adding Decimals with the Same Decimal Places
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Part 3 – SATs Questions
Q1.
 
Large pizzas cost £8.50 each.
Small pizzas cost £6.75 each.
Five children together buy one large pizza and three small pizzas.
How much does it cost?
 
 
2 marks
Q2.
 
A shop sells pairs of socks.
[image: ] 
1 pair for £5.45                  3 pairs for £7.50                5 pairs for £8. 50
 
Kirsty buys 1 pair of knee socks and 3 pairs of ankle socks.
She pays with a £20 note.
How much change does she get?
 
 2 Marks
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Ron goes to the shops. He buys 3 items. What is the most he could
pay? What s the least he could pay?
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£4.45 £559 £399 £405
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Using the digits O - 9 only once in each
of the spaces above, what s

+  The largest sum possible

+  The smallest sum possible

Is there more than one way of creating
each total?
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